
 

cqurBuj  
 

1. j/mK fbfynK ftZu'A fejVk ;wpj[Gi BjhA j?< Which of the following is not a regular polygon? 
a) ;wG[ih fse'D Equilateral Triangle b)  tor Square  
c)  ;wus[oG[I Rhombus   d)  ;wS/G[I Regular Hexagon 

 
2. S/G[I d/ nzdo{Bh e'DK dk i'V HHHHHHHHHHHHH jz[dk j?.  The sum of interior angles of a hexagon is……… 
a) 720°   b) 360°  c) 540°   d) 180° 

 
3. gziG[I ftZu fteoBK dh frDsh dZ;'.  The number of diagonals in pentagon is…… 
a) 5   b) 10  c) 12   d) 15 

 
4. fse'D d/ pkjoh e'DK dk i'V HHHHHHHHHHHHHH jz[dk j?<   The sum of exterior angles of a triangle is… 
a) 𝟏𝟖𝟎°    b) 𝟓𝟒𝟎°   c) 𝟕𝟐𝟎°   d) 𝟑𝟔𝟎° 

 
5. ;wpj[Gi d/ G[iktK dh ;zfynk gsk eo' fi;d/ jo/e pkjoh e'D dk wkg 𝟒𝟓° j?.   

The number of sides of a regular polygon if each exterior angle is 45 
a) 6   b) 8  c) 2   d) 4 

 
6. ;wgziG[I d/ nzdo{Bh e'D dk wkg dZ;'.  The measure of interior angle of regular pentagon… 
a) 𝟓𝟒𝟎°   b) 𝟗𝟎°  c) 𝟕𝟐°   d) 𝟏𝟎𝟖° 

 
7. j/mK fbfynK ftZu'A fejVh ;wKso us[oG[I BjhA j?<  Which of the following is not a parallelogram? 

a) tor Square   b) nkfJs Rectangle  
c)  ;wbzp us[oG[I Trapezium  d) ;wus[oG[I  Rhombus 
 

8. j/mK fbfynK ftZu'A ;wKso us[oG[I bJh fejVk rbs j?<  
Which of the following is not correct for a parallelogram? 

a) ;Bw[Zy G[iktK pokpo Opposite sides are equal    
b) fteoB pokpo  Diagonals are equal 
c) fteoB fJZe d{i/ B{z ;wd[Gkfis eod/ jB  Diagonals bisect each other   
d) ;Bw[Zy e'D pokpo  Opposite angles are equal 

 
9. j/mK fbfynK ftZu'A fejVk rbs j?< Which of the following is not correct ? 
a) hryk tor nkfJs hY. Every square is a rectangle. 
b) hryk tor ;wKso us[oG[i hY . Every square is a parallelogram. 
c) hryk ;wKso us[oG[i ;wus[oG[i hY. Every parallelogram is a rhombus 
d) hryk ;wus[oG[i ;wKso us[oG[I hY  Every rhombus is a parallelogram. 
 
10. gziG[i d/ nzdo{Bh e'DK dk i'V dZ;'. The sum of angles of a polygon is… 
a) 𝟑𝟔𝟎°  b) 𝟕𝟐𝟎°  c) 𝟓𝟒𝟎°  d) 𝟗𝟎𝟎° 



 

11. CyBuj d/ fteoBK dh frDsh gsk eo'. The number of diagonals in  a hexagon is……… 
a) 9  b) 6  c) 12  d) 15 

 
12. nZmG[i d/ fteoBK dh frDsh gsk eo'. The number of diagonals in a octagon is… 
a) 16  b) 24  c) 10  d) 20 

 
13. n BujwvW vwly pj[G[i d/ nzdo{Bh e'DK dk i'V HHHHHHHHHHHHH j?.  

The sum of interior angles of a polygon with number of sides n is………… 
a) 𝒂(𝒏 − 𝟐) × 𝟗𝟎° b) (𝒏 − 𝟐) × 𝟏𝟖𝟎° c) (𝟐𝒏 − 𝟒) × 𝟏𝟖𝟎°  d) 𝟏𝟖𝟎𝒏 

 
14. pj[G[i d/ pkjoh e'DK dk i'V HHHHHHHHHHHHH jz[dk j?. The sum of exterior angles of a polygon is…. 
a) 𝟑𝟔𝟎°  b) (𝒏 − 𝟐) × 𝟏𝟖𝟎°     c) 𝟏𝟖𝟎°  d) 𝟏𝟎𝟖𝟎° 

 
15. ;wpj[G[i d/ G[iktK dh ;zfynk gsk eo' fi; dk jo/e pkjoh e'D 𝟒𝟎° j?. 

Find the number of sides of a regular polygon if each exterior angle is 40. 
a) 8  b) 6  c) 9  d) 10 

 
16. ;wpj[G[i d/ G[iktK dh frDsh gsk eo' fi; dk jo/e nzdo{Bh e'D 𝟏𝟐𝟎° j?.  

Find the number of sides of a polygon having each angle 120 
a) 8  b) 6  c) 9  d) 3 

 
17. fdZsh ;wKso us[oG[i ftZu 𝒙 ns/ 𝒚 gsk eo'.  

Find 𝒙 and 𝒚 in a given parallelogram. 
a) 𝒙 = 𝟑, 𝒚 = 𝟐 b) 𝒙 = 𝟔, 𝒚 = 𝟗  

 c) 𝒙 = 𝟗, 𝒚 = 𝟔  d) 𝒙 = 𝟏, 𝒚 = 𝟑 
 

18. j/mK fbfynK ftZu'A ;wus[oG[i bJh fejVk rbs j?<  
Which of the following is not true for rhombus? 

a) fteoB pokpo jz[d/ jB. Diagonals are equal 
b) ;kohnK G[iktK pokpo jz[dhnK jB. All sides are equal 
c) fteoB fJZe d{i/ B{z 𝟗𝟎° s/ ;wd[Gkfis eod/ jB. Diagonals bisect each other at right angles. 
d) ;Bw[Zy e'D pokpo jz[d/ jB. Opposite angles are equal. 

 
19. j/m fbfynK ftZu'A nkfJs bJh fejVk rbs j?< Which of the following is not true for rectangle? 
a) jo/e e'D 𝟗𝟎° jz[dk j?. Each angle is 90 
b) fteoB pokpo jz[d/ jB. Diagonals are equal 
c) fteoB fJZe d{i/ B{z 𝟗𝟎° s/ ;wd[Gkfis eod/ jB. Diagonals bisect each other at right angles. 
d) ;Bw[Zy G[iktK pokpo jz[dhnK jB. Opposite sides are equal. 

 
 
 



 

20. dZ;' fejVk eEB rbs j?< Which of the following statement is wrong? 
a) hryk tor ;wus[oG[i hY. Each square is a rhombus. 
b) hryk ;wKso us[oG[i nkfJs hY. Each parallelogram is a rectangle. 
c) hryk tor nkfJs hY. Each square is a rectangle. 
d) hryk ;wus[oG[i ;wKso us[oG[i hY. Each rhombus is  a parallelogram. 

 
21. 𝐑𝐄𝐍𝐓 fJZe nkfJs j?, fJ;d/ fteoB fJZe d{;o/ B{z 𝐎 s/ eZNd/ jB. 𝒙 dk w[Zb gsk eo' i/ 𝐎𝐑 = 𝟐𝒙 + 𝟒 

ns/ 𝐎𝐓 = 𝟑𝒙 + 𝟏 j?. 
In rectangle RENT, diagonals intersect at O. If  𝐎𝐑 = 𝟐𝒙 + 𝟒 and 𝐎𝐓 = 𝟑𝒙 + 𝟏 then find x. 
a) 𝟓               b) 𝟑    c) 𝟒     d) −𝟑 

 
22. fdZsh ;wKso us[oG[I ftZu 𝒙 =  In given parallelogram x =  
a) 4  b) 6 c) 8  d) 5 

 
 

23. fe;/ ;wKso us[oG[i d/ d' bkrt/A e'DK dk nB[gks 𝟑: 𝟐 j?. ;wKso us[oG[I 
d/ e'D gsk eo'.  
The adjacent angles of a parallelogram in ratio 3:2 then find the angles.  

a) 𝟏𝟎𝟖°, 𝟕𝟐°  b) 𝟏𝟐𝟎°, 𝟔𝟎° c) 𝟏𝟎𝟎°, 𝟖𝟎°  d) 𝟏𝟑𝟓°, 𝟒𝟓° 
 

24. ;wKso us[oG[I 𝐑𝐈𝐍𝐆 ftZu 𝑹 = 𝟕𝟎° j? sK e'D 𝐈 gsk eo'.  
       In parallelogram RING, 𝑹 = 𝟕𝟎°  then find 𝐈. 
a) 𝟏𝟎𝟎°      b) 𝟖𝟎° c) 𝟏𝟏𝟎°  d) 𝟕𝟎° 

 
25. ;wKso us[oG[i 𝐏𝐐𝐑𝐒 dk pirmwp gsk eo'. 

Find the perimeter of parallelogram PQRS. 
a) 𝟏𝟗 𝒄𝒎 b) 𝟑𝟖 𝒄𝒎 c) 𝟑𝟒 𝒄𝒎 d) 𝟑𝟔 𝒄𝒎 
 

 

 


